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[ ras =
1 — , o< —1.
oc+1

007200,0 21000 (76) 000000. 00, £f(¢) = M2 000000 620
0,(76)0¢>-200000000,0<-2000000000. 000 ¢=-2000
£2f(t)=A00,(76)0A>1/400000000,A<1/4000000000. 0000
000 (7.6)0000006100000720000000

0 7.2.000000000.
(7.7) y' 4+ (1+2cost)y=0 (t=0).
goagd

¢ ¢ .
f(s)ds:/(1+20083)ds:[s—|—281ns] =t+2sint=2t—2—>00 (t— 00).
0 0

Oooo,007200,(r7H000000. 000,000 (7.7 00000 e6.10000000.

00720 f(#)000000000000000000000.000000, f¢)000
000000000000 720000000000000000.000, f¢)000000
00000, f¢) 00000062 ()00 (E)000000000,0000, f(t) =00
000000.00,00 7200 (7400000000000,

/ ft)dt < 0o

gboooogo.
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8. Hille-Wintner OO0 O 00O
00 8.1. f € Cltg, 00 Dth t)dt 0000000000 00. 0000 [T,eo) OODODO
(71) 00 000000

(8.1) /Too(z(t))zdt < oo, limz(t)=0.

t—o00

0.(7.1)0000 [7,¢)000000

0
(8.2) 2(t) — 2(T) + /T (2(s))%ds + /T f(s)ds =

0o, t
)+ [ (lo)ds = (1 /f

obo.bo0bddb t—=o0o000D00O0ODOO LOODDOODO,

(8.3) lim {z(t) + / t(z(s))st} =L

t—o00 T

goood. o fT N3dsO t00000000000,

@)/ﬂdgﬂm:m noo @)Aﬂdgﬂk<m

T

gbobooodan.
() D00OO00. 83)00O,0000000 Ty2TOOOO,

z@+/kﬁw$gL+1@gﬂ)

goooo. od,

oooo,
(8.4)

Wit
000, (a) 00, W(t) — oo (t = o)
000, W) >000000. (84) O

<

(W(t)? = (—2(1)* = (2(1)* (t2Tn)
000.00,W()=(:()*00000,W 0O
(W()? =W'(t) (t=T)
D000.000007200000.000,() 00000, (G)00000.

(8.2) 00,
z(t):z(T)—/T(z(s))zds—/Tf(s)ds
O00.0000,0000 (0000,

)= —z(t) (t=zT)
00000.000,00 27,0000, [T3,00) 0
0,

lim z(t) =

t—o00

00000./=00000000000000000.1£000000. (2(s))? = 2 (t — o)
00,00 ;27T0000,
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gooooo. oo,

¢ T ¢ t 2 12
/ (2(s))ds = / (2(s))*ds +/ (2(5))%ds = | —ds= —(t—T3)
T T 5 2 2
00000,000 t—oo0000,
/ (2(s))*ds = oo

T
O000.000,000 (h)00000.000,l=000000. U

00 8.2. f€Clty,00) 00 [ f()dt 000DO0000D000.0000,00 (i), (i) O
ooooo.

() (E)0D0D0D0O00OD0.
(i) 0000D0DO0DO0OO0OOOOOO +00000000.

(8.5) A(t) = /t " (2(5))2ds + /t " F(s)ds.

00.()00000.0071000,(7.1) 00000 [T,e0) 0O z000. 008100
(81)00000.000,(7.1) 0000 [t,eo)DOOOOO,

)+ /too(z(s))zds + /too F(s)ds =0

0Oo0. 000, G()ooooo.
(i) 00000. 20 (85) 00000 [T,00) 000000. 0000, [T,00) 0000, 2
0

Z(t) = —(2(t)* - f(t)
0000.000,(7.1)0 [T,00) 00 :000.00 7100, () 00000. O

00 8.1 (HilleWintner 000 00). 00000000 DOOODO.

(E) y' + f(t)y =0,
(E*) Y+ F()Y =0,

O000. 000, f,F€Clto,00) 00 [ f(t)dt, [ F(1)dt 0000000, [ty,00) D000

o [Tss [ s

O000O0ooooooo.oooo,o0 G), ()yoooog.

() (E)000000000 (B 000000
(i) () 0000000000 (E)000000.

meGMsélmF@Ms

O0000. 00000000000, 000, HilleWintner 00000 (OO0 81)005.10
gbooobogoooboga.

00 8.1. f() < F(H) 00O

008.1000. ()0 (i) 000000, ()000. (B 000000000000, 00
8200,00 [T,00) 000D,

2(t) = /t " (2(s))ds + /t " F(s)ds /t " (Z(s))ds + /t " F(s)ds
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ooob zooooo. oo,

(0= [ @it [ s

0000, [T,00) 0000, ZFt) 222000000,
=2 f() S~ f(t) (t=T)

goooog.ooo,
y(t) :eﬂiz(s)ds

nooo,

(1) = el ( / z(s)ds) — (=)
noooo,

Y = ye by < (92)2 4 y(—2— J(0) = —J(y (¢ T),
0o,
By <0 (t2T)
0oo. 00,
0+ )

oty = ~LOTON 5 2

oooo,

')+ [F(1) + o)y (t) =

p(t
DDD,DDDDDDDDDDDD.ﬂw+()ngDDDDD 051000,(E) 000
oooo. 0

9. Hille 0O ODO
Hille-Wintner 00000 (00O 8.1)00,0000000000.

00 9.1 (HilleOOOO). f e Clty, Dth tHydt 0O0oooOo0o0ooooog.
()ooOT,o>00000000000.

9.1) tlmﬂ@@;£+5 (t=T)

0000 (E)0ooooo.
(i) 00 TOOOOOOOOOO.

0 1
(9.2) O§t[ fls)ds < (2 1).
0000 (E)0000ooo.

00 9.1. HilleDDOOO (00 9.1)0 Kneser 0000 (0 61)0000000000. 00
2ft)z2(1/4)+6000

t/oof(s)dsgt/oo (i+(5> s2d3:t(%1+5) [—sl}f:i—l—d

000 2ft)£1/4000¢ [* f(s)ds<1/400000,
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gboauddo.gdo¢«>0000,

00000000O00. 7= max{lto}DDD
() A=(1/4)+6000,(9.1)00,t=2T000,

/f Yds > At /%dszo
s

006100,(6.1)000000.008100 (000000,
i) A=1/4000,(92)00,t=7000,

o0 o0 A
0= / f(s)ds S X! = / —ds
t t S

O006.100,(6.1)0000000.008100 (E)D0O0O0O0DDO. U

10. 0000000000001
000 (E)00 yO

(0)=()= (i )= (o ) ()
y y" —f(t)y —f) 0 y
0000.000,0000000000000

(10.1) y = Alt)y
Oo0ooopooooooooono. DDD,yDDDDDDDDDDD,A(t)DDDDDDD
ogood,oouod [to,oo)DDDDDDDDDDDDDD.DDDDDD (10.1)DDDDD

y(t) =y 0000000000000000000, jt,00) 00000000000 OODO.
oo,

gdog
O e Q) B
y@‘(ww)’A@‘(ww&@>
Jdoooo.doooooboggdg.

00 10.1.

(10.2) y-z= |y z| =yl
(10.3) (lyP) =2y -y
(10.4) (Ay) = A'ly + Ay’

00.y0 20000060000
1y - z| = |yl|z]| cos O] = |y||]
ooo. oo,

/
(|y|2)/:(02+w2)/:2vv’+2ww'=2<Z})‘(Z}/ ) =2y-y

goooo.ood,
(o B v\ [ av+ Bw
Ay_(7 5)(w>_(vv+5w)
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ooooo,

v+ av' + fw + pu’
Yv 4+ " 4+ 0w + dw’

_( dv+ fw n av’ + fu’
o\ A+ dw ~yv' + dw’
o +p v, a+ v
v 4 w v+46 w'
A
goodoad. [

b 10.1. 000 y 0o

Ayl = hD)lyl (= 1)
00000 heCltg,o0) 0000000000, OO

(10.5) / h(t)dt < oo
to
000 (10.1) O [te,00) 00000000 yOOOO
(10.6) y%(?> (t — o0)
2

Ub0o0D00 ¢,cbb0O0g.

00 101000000000000O000O0.00 1010000000 A®)D ¢t0D00OO
Oo000,00000000. (10.)0O0O,y 000000000,y 00000000000
go.

gob. 0010100,

(10.7) y-y = |ylly'| = [y[[A)y| < lylh()]y] = h(t)|y[?
ooo. oo,

H(t) = o2 i o)
0000, [tyoo) 000D
(10.8) 0< H(t) < 2o "o = ¢
000000 K>0000000000.00,

H'(t) = &2 e M0)ds (2 /t t h(s)ds)l = 2H(t)h(t)
Oo00,00 1010 (10.7) 00O
( lyl? ) _ (yP)H®) — lyPH' ()
H(t) (H(t))?
_ 2y-y'H(t) — [yP2H(1)h(t)
(H(t))?
2

:m(y'y'— ht)yl?) £0

000.000,|yl/H#) 0000000000, [t,eo) 0000,

lyl* _ ly(to)|
oy S e = Iyl
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0ooooo, (108) 00,

y|* < ly(to)PH(t) < |y(to) P K = M
000000 M>0000000000.000,

Y| = |A(t)y| < h(t)|y| £ VMA(t)
Oooo0Od. 0od

Y] = V() + (W) 2 V() = V]
['(t)] £ VMh(t)

/tooo [ (t)|dt
/too V' (t)dt

t
lim v(t) = v(tg) + lim / V'(s)ds
t—ro0 to

t—o00

Ooo0Do0o0. 000, limw(t) O0ODODO0O0O. 000, (106) 000000 ¢, 0000
a. 0J

oo,

ooooo,
OoO0O0o. 000

gbooooad,

11. 000000000
000 (E)00 y0OO0OO,

(11.1) y= ( 5, )

ooo,

guod.guouou,ouoooouoouoon (10.1)DDDD.DDD
Y(t)—( cost Slnt)

—sint cost

0000 detY(t)=100,Y-"Y(t)00000.000

z=Y ')y

0000,y=Y@®)200
Yy =Y'z+YZ2.
ggd
Y=y - YVz2=Ay—-Y'2=AY2-Y'z2 = (AY - Y')z.
gdd
B(t) =Y (t)(AW)Y (1) = Y'(¢))

gadad =0
(11.2) z = B(t)z

gooo.
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oo 11.1.

—cos’t —sintcost

B(t) = (£(t) - 1) (

sint cost sin? ¢ )

0.
s =vwl( 0 S (o ) v
v [( gt et ) (et )]
—Y () ( 0= T)cost —(1(6) ~ sint )

cost —sint 0 0

sint cost —cost —sint

sintcost sint
—cos’t —sintcost

00 11.2. 000 20000
[B(t)z| = |f(t) — 1]|2]
ooooo.

uo.

(11.3) z = ( Z; )

ogood.oui11.1oo,
B(t)z = (F(t) — 1) ( sintcozst §1n2t ) ( v )

—cos“t —sintcost w

_(F(1)—1) < vsintcost + wsin? ¢ )

—vcos“t —wsintcost

B sint(vcost + wsint)
= (f) —1) ( —cost(vecost + wsint) )
= (f(t) — 1)(vcost +wsint) ( _Sicr(l)zt )
00000,
|B(t)z| = |f(t) — 1|Jvcost + wsint|y/(sint)2 + (— cost)?
v cost
= /=1 <w).<sint)
v cost
2o () 20)
= |f(t) — 1||z|V cos? t + sint
= [f(t) = 1[[2]
gdgg.
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00 11.3. (E) 00000 yOooo,

(11.4) V(t) = O + Iy (1)
0000, Vi) o

(11.5) V(t) 2 V(tg)e FolO71 (4 > )
oooo.

ogd. oo

V() =2yy' + 20y =2y (y +v") = 20'y(1 = f(t) = =2ylly'|| f(t) — 1]
ooooo,

% (PO (1)) = | 7() = 1)el OV (1) 4 eSOy
> | £(t) — Lelo VO v (1) — 21y ly))
= |£(t) — Lelo MOy — )2 = 0
O00.000,t=t 000,
elio MO y7 4y > plig sy ey |y ()

t=to

O00000.0000, (115 000. U
o0 11.1. 00004

/oo\f(t)—l\dt<oo

to

oogopoo.oogo (E)DDDDDDDD y oo
y(t) = [e1 + e1(t)] cost + [co + e9(t)] sint,
y'(t) = —[c1 +e1(t)] sint + [co + &2(t)] cost,
Jim &, (2) = lim &5(t) =0,
O00000 ¢, (3+c3#£0) 000 &1(¢), e2()) DOOODO.

00.y0 (E)000D00000. (11.1),2=Y 'y 0000,20 (11.2)00000. (11.3)
000.00 11200010100,

z <U> (Cl) ( )
w Co
Ogoouod gq,cc oo, oo

e1(t) =v(t) — 1, e2(t) =w(t) — e

nooo,
lim 81(t) lim 82(t> =0

t—o00 t—o0

goobod. ggd,

(3)=vor=( o ) ()
:( u(t) cost + w(t)sint )

—u(t)sint + w(t) cost

_ ( [c1 +e1(t)] cost + [ca + ea(t)] sint >
—ler +ei(t)] sint + [cg + £2(t)] cost
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ooo.
000 +a2#0000.2+c2=000000.00 V(@) O (114 00000.000
O,ci=c=000,
m Vi =0
O00000.0011300,(115) 000000.000 (1150 t—=cod00O0O,
02 V(to)e o HI711,

00, V() £0000. V() 2000000,V()=000000.000 y(t) =y (tg) =0
0000,0031(00000000000000)000,y(t)=0000000000. O
00,000,y000000000000000.000,3+3£0000. O

00 11.10,0000000,t—o00000 f(t)0 1000000,000 (E)0OO
y'+y=0
oo,dod,
c1cost + cosint

gbooboogobobooooon.

12. 000000000
00o0000o0o
(1.4) (pOY) +qt)u=0 (t=to)

000000000000000. 00000, p, g€ C2[ty,00), p(t) > 0, q(t) >0 (t = to) O
00.000,00 ut)=[pt)e@) " 000. 0000,

(12.1) - O]

gbobobooogon.

00 12.1 (Liouville 00). 000 (1.4) O

1 [ ds
Z(CL’) - [:U’(t)] U(t), Tr = /to p(S)[M(S)]Q

oooooo,
(12.2) §§+@wmmmmmw@r+oz=o<ogx<m
000000.000,b= ["+/qt)/p(t)dt 000 .
oo. 00,

dx 1
(123 OO
0o,

& p) o)

obobooboobgo. ogo,

dz d, , . dt
(M U)@—

dr  di (Y u+ ] pp? = [—p 2 plu+ '] p® = —pp'u + ppu!
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ooooo,

Pz d dt ,

7oz = g P ppd) o = [ (pp) u = ppl - p'pu + plpu’) | pu
= [~ (pi)'u — pqu] pp®
= —pp’(p') = — pau'z
— [pP(pp) +1] 2
000.00,(121)00,t<t<occD0 0<2z<b00000. O

00 12.2. 2 = [, [p(s)] "} u(s)] 2ds OO0, f(z) = p&)[p®)Plpt)/(@))'+1000. 0000,
b oo
/0 [fz) = 1]dz = /t ()| [p() ' (1)) dt.
000,b= [ a@®)/p(t)dt 000

O00. (12.3) 00,

1 > !/ !/

[ 1@ == [t OF pp® = [ Ol o)
gon. ([l
0o 12.1. 0000
(12.9) | ol )1 < .

o)
(12.5) /to =
googd.ogooo, oo )Oooooooo «w0O0o0oOd

u(t) = ——— [ (/,/ d+B>+(51 Tim 6 (t) = 0,

000000 A#0, BDDD51 yooooo.
00.000 b= [7qt)/p(dt=co D0D000. OO,

! ds , .
- /to PO HEE f(@) = p)p®)P[p(O)u' (1)) +1

000000 1220 (124) 00,

/ |f(z) — 1ldz < 0
0
00D00. 0012100, 2(2) = [p@®)]u(t) 0 (122) 00000000. 00 10100,

z2(z) = [e1 + e1(x)] cosx + [c + e2(x)] sin z,
Jm exw) = lim &5(x) =0,
000000 e, (A+c3£0) 000 e4(2), e2(z) DO0DODO. OO,
e(x) = e1(z) cosx + ea(x) sinx

goo.ooog,
2(x) = crcosx + casinz + e(x) =/t + sin(z + B) +&(x)
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0000 BOOOOO. A=4/d&+c&4£00000,

-t = Asin t ﬁs t @3
()] u(t) = A (to p(s)d +B)+E</tonp(8)d>
oo0oooo.oog,
([ e,
‘(/ p<s>d>

0000 lim,di(t)=000000. 0
001210000 (E)000000O000O0.
0 12.1. 000000,

feCinoo), f>00z0), [ o)

to

()| de < oo, / VIt =

O0000,000 (E)00000000 y00000000000 A#0,BO0O0O 6(t)0
oogd.

y(t) =

{*/% [Asin (/t: \/mderB) +51(t)} , lim 6y(t) = 0.

0 12.1. 00000
(12.6) Y ATy =0 (t=1)

0000. 000, >0,0cRO00. 060000000 ¢=-20000, Euler 000
0000,0000000.000,070000000 ¢>-2000,000000000
0000,s<-2000,00000000000000.000,0>-200000000
0000000, f)=Ax° 0000,

[ VTG = VA [ stas = VA [ psen] < 22 (e )

00000,0>-2000,

SR ) = AR = a e

ood.ec>-2000 -2-1<000000,

1 ) |0|(0'+4>{ 1 gl]t_lal(a+4) —2
/f 16v/A —%—15

gboobo.ogad,

P xR
/ o 8\/_(a+2)<

012100,0>-2000,(126) 00000 y O

2V\ [ oi2
Asin ( +2t% +B> + 61 (¢)

y(t) =t C lm by () =0

g

gobobooooon.
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13. DOOugooboboao

0000,000 (E)0000 «(t)000000000.0000,000 «(t)00000
ooo.

00 13.1. 00 (124), (125) 00000. 0000, 000 yOoOooOo «wOooo

u(t) = ——— 4p( (/ “ d —I—B>+51 (t)
u’(t):{‘/[ (/ ,/ d +B>+62 t)

lim &y (¢ 0, hrn 52
ﬁ

Y

)

000000 A#0, 3000 51(),52()DDDDD.
00 13.1. 00 (124)DDDDD.DDDD,DD (), () 00O000.

ft H))?dt =00 00O, limp( () (t) = oo,
(ii) ft H)Pdt <oco OO0, DDDD cOOOO limp(t)u(t),u’(t):c.
gd. oo

(upp) = wWpp’ + pu(pp') = p(')* + p(pp')
00000. 000 [, 000000,
t

(13.1) p(t)ﬂ(t)l/(t)=p(to)ﬂ(to)u’(to)+/ p(S)(M'(S))2d5+/ p(s)(p(s)p'(s))'ds

to to

goo.

[P @Pdt =00 000, (13.0) 00 t =00 0000, (124) 00, lim p(t)u(t)(t) =
OODDD

[l DI @Pdt < 00 000, (131) 00 ¢t > 00 0000, (124) 00,0000 ¢ 000
O tlg&p(t)u() ()—CDDD. O

00 13.2. 00 (124) 00000, [ p)/()dt =00 D00, Jim p(t) =00 00, 000
—o0
O~y>00000, tlim p(t)p' (t) =~.
—oo
gog.ooi13104d,
(13.2) ltlim p(t)p(t)p'(t) = oo
—00

0000000,00 ¢ 260000, [t,00) 0000, 4(¢)>000000. 000, ut)
0 [h,00)00OODO0O0O0OD0OO0O0OO,

p(t) 2 p(t) >0 (¢ 2t)
0o0.0000,

! 1 / / ! / /
[ mentas = [ upon e < s [l e

00000. 00 (124) 00,

t

lim [ [p(s)p'(s))'ds = lim p(t)u'(t) — p(t1)p' (1)

t—o0 t

ooooo. 0o,
v = lim p(t)p'(t)

t—o00
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0000002000000, (132) 00, limu(t) =cc000. 000 v>0000.
—00
v=000000.0000,[4,00) 0000

0 < p(t)u'(t) = Ip(t)p' (t)]

| wowsyas

< / T lp() ()]s

_ / N ﬁu(S)l[p(SW(S)HdS

00000. 000, [t,00) 0000

0 < OO0 S [ o llpls)n (o)) ds
t
000000,¢—0c0000, limp(t)u()u'(1)=0000, (13.2) 10000. 000, 5>0
—00
ood. U
00 13.3. 00 (124) 00000, [Zp)pt)2dt =00 0D D,

/ coda
w POR@P

00.0013200,004>00000, limp(t)e/() =500 limpu(t) =co00000.
— 00 — 00

000,00 6,2t 0000, [t,00) 0000, pt)/(t)2+/200000.0000, [t,o0)
oooo,

o -1y _ -2/ _ p@)ﬂl(t) z 1
() = () 20 (1) = e = 0
O00000.000 [t,t)000000
. s ¢ 1 )
O ) 2 [ e

gbob.o0ud¢t—ootggn,

| oot s —
w PR = ()
goo. U

00 13.4. 00 (124), (125) 00000. 0000, lim p()u(t)(t) = 0.
—00

0o0.000, N
/ PO (B dt < oo

to

goooo.od,on
/ p(0)[ (D)2dt = o0

to

000, (121) 000 13.300

< Jq(t) > dt
/to Vo™= / POOE <%

0000,000 (125)00000.000,0013.100,0000 c0000O,
Hm p(6)p(t)p'(t) = ¢
— 00
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O00000.¢=0000.c¢c£4A000000.00 42t 0000, [th,00)0000

Q
[

\)

O0000.00004, [t,0)0000

p(t)[p(t)]?
googo. ooo,
/OO 1 dt <
e ——— 0. @)
n o pO)[u(t)]?
DDDD,DDD(12.5)DDDDD.DDD,C:ODDD. O

ogd 13.1DDD.u(t)DDDDDDDDDDDD12.1DDDD.U’(1§)DDDDDDDDDD
0.00,
ds

t
o) = ()] Mult), = / &5
1o P(s)[p(s)]?
googd, z0o (12.2)DDDDD,DD 121000000000 11.1 00,

2(x) = [e1 + e1(x)] cosx + [ca + e2(x)] sin z,
3_; = —ler +e1(@)]sinz + [e + &5(2)] cos z,

g () = Jim eale) =0,

000000 ¢, 0 (E+E#0)000 e1(z), e2(x) 00000, 0012100000000
0oo

% = (O (ut) + p(p( (1)
0ooooo,
p(P(O (1) = 5=+ pla)ul (Byult) = %+ (O (1))

000. 2(x) 000000,00 12400,
lim p(t)p (t)u(t)z(z) = 0

T—r00

goooo. gd,

p(®)p(E)u' (t) = —cr sinx + e cosx + [—e1(z) sinx + ea(x) cos x + p(t) ' () p(t) z(x)]
= Acos(z + B) + 05(t)

000000000.000,A=/&+&+#00 BO «(t)00000000000000
noooao,

t—o00
oooog. oo
q(t)
p(t)
godod
, i ) q(s)
u(t) = A cos ds+ B | + 9ot
=\ por ( Voo ) 20
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